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pressure]
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K"; > p¥ in both cases

for this mixture

⇒ indicates

HI is a better solvent farther
then Eton

Eton is - - - - -

than Hzo



Chemical Reactions

aAt BB ⇒ act DD

I#iIo
cc +DD -bB-at ⇐ 0

because of mass balance

there a constraint



21-120 ⇒ 21-12 to
describe shifts from / side to

the other with a single #

§ reaction progress



21-120 ⇒ 1-130++04-

1m01 - 2x 0 0

+ ✗ + ✗

9 *w - 15
""

Kw = [ Hsot] [Oti]

¥2
10-14 = *>( 1-2×12



AATBB ⇒ cctld

G=nAµA\ [+nBMBfcanbe±
'AAB

.
.

+ ncilc/
+ n☐µD>

canst

GCna.nrs.no,n☐, 'pTT)



const

→GCna.nrs.no,n☐, ETT)

⇒ dG-tpeI0IAtin.iki_Mpe5dnrs@0nBha.n.,n☐
tpkdnc + µ ☐ dnp

=Iµidn all connection
dnA=-a{ dng=-b{ dnc=c§

dnpedbz



Vi is rxn coefficient

& Vi is - for reactants

dG=Iµivid&

✓ @ const
TRP

•

f.g



dG-Epeiq.DE
<⇒ C%q)=EµiVi
- % Mink

,M3, My .
. . -

bGr*n (mine . . --nm)

Mi = µ? + RT In [ i]
•
⇒ [i ]=1M

Ñxn=IµY¥tÉRTln[ i]viF-inn



-aRTIn [ A] t BRT In [B]

at⇐ b B↳
DG = DO + RT In [B]%µa

IG = ÑG° + RT In Q

Q = IT [ijoi
-1=1



IG = TO + RT In Q
@ Eq

⇒ 0 = To + RT la keq
560 = - RT In keg

keg = 1¥
,

[ isIg[
Emivi



what happens if we change T

or P to eg

TbF☒o=stT°- TÑ
" ivoittlottefh

"

- RT #Keq
lnkeq = -%¥+ £55



inkeo.tn#.y.E-FEt~ntoeepr~slope



re-AssumedG- = -5 DT +Tdp

@ canstT G=EGi

DIE = IT dp ?

@standard conditions

dIÉ°=sJ°dP



Colt 9 024
'
⇒ 6Coit 6 tho

d#=STdp
- RTInk

☒ = ( Ñ%pJ, @ studentconditions

%iñ.¥.



Colt 9024'←→ 6Coit 6 tho

→

→ In
←

" he Chatelier 's

principle
"

dlÉ°= sT°dp appg,
" ist order

)

(
ÉG°(p)=5G°Cprent bÑ°(P- pref)
ÑG°= -RT Ink



- RT Ink < 0

top of keg goes up

@TÉp)T=lJ°
56%1=58Cpreeitcp -pre)¥p°tp¥¥



cofarahanalE-giib.in
Biomolecular reaction
"binding /unbinding "
A

④toe ⇒④
a

AtB⇐AB



" reaction
" transition between

stable states of 1 molecule •

⇒ RAMIE
F

Unfolded

U F



Folding controlled by

DG = SH - TAS U←→F

in gown Ge -Gu
DH folding 40

IS folding £0
"
more ordered

"

Reconsider Hzo , ions)



Competition btwn energydestroy
& depends on T


